EXAMPLE 1

The death penalty should be abolished

because it 1S racially discriminatory,
there's no evidence that it 1S a
more effective deterrent than life
imprisonment, and inocent people may

be executed by mistake.



EXAMPLE 2

Every member of the Applewood
Association is more than 50 years
old. Bob 1S a member of the
Applewood Association. So, Bob 1S

more than 50 years old.



EXAMPLE 3

Dipsy can't come to the
because he has to pick
new hat, Po can't come
scooter 1S broken, and I
the other Teletubbies. So

will be at my party.

party

up his
because his
didn't invite

no Teletubby



EXAMPLE 4

If Amy runs marathons, she's probably
very fit. Amy does run marathons.
She's also a B student. So, Amy

1S probably very fit.



